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Complex Analysis (I) 2003-2007

Cauchy-Riemann equations and analytic functions. Cauchy’s theorem and consequences.
Singularities and expansion theorems. Maximum modules principle. Residue theorem and its
applications. Compactness and convergence in spaces of analytic and meromorphic functions.
Normal families.

Complex Analysis (II) 2003-02007

The Riemann mapping theorem. Infinite products and the Weierstrass factorization Runge’s
theorem and Mittag-Leffler’s theorem. Analytic continuation and Riemann surfaces. Har-
monic functions, subharmonic and superharmonic functions, the Dirichlet problem. Entire
function, Jensen’s formula, Hadamard ’s theorem. The Range of entire functions, Bloch’s,
Shotcky’s, and Picard’s thoerems
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